Daily Quiz
Solve, graph and write the interval notation
for the following inequality.
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arcep 1| Solve Multi-Step Inequalities

bjective | Students will be able to solve, graph
and justify inequalities in one variable.
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. Steps to Solve an Inequality
1. Write the problem

2. Solve the problem as though the inequality
sign (<, >) is an equal sign

3. Decide 1f the endpoint(s) 1s a bracket or
parenthesis.

4. Graph the solution on a number line using
interval notation.




@j@ Solve, graph and write the interval notation.
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() Example_] Solve, graph and write the interval notation.
@) 5(7x+6)<-180 B 4(4x-6)>104
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@)‘:Example |Solve, graph and write the interval notation.

@ -15-5x+x>-2x-7 |B lHdxr=>-13+6x
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Solve and write the interval notation
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